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1. Dr.Peterson works about 178 hours
each month. Which of the folowing s
the best estimate of the number of
hours she works nayear? 1 point
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2. Abanana contans 105 calories Last
week, Brendan and Lea te ot of
14 bananas.Howmany caloies does
hisrepresenc 1 point

1,470

At warehouse, 127 delivery trucks were

Ioaded with 8 packages on each ruck.
Parth

Estmote the total number of packages
on the trucks Wit an equaton to
modelyourwork. 1 point

Somple answer:

6,500; 50 x 130 = 6,500

Parts

Didyou cleateanoverestimate
oran underestimate? Explain how
youknow. 2 points

Sample answer: Overesfimate;

50 > 48 and 130 > 127,
50 50 x 130 > 48 x 127,
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5. The latest mystery novelcosts $24.The
table hows the alesof th novel by
bookstore.

The Costume Closet
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4. Chooseallof the expressions
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6. There are 45 cans of mixed nuts. I
each can has 338 nuts,what s he total
Pumberof nuts,n inall o the cans?
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9. Tedtssales goal forthis month i+ 56,000
Ted sells 289 tcketsfor $16 each. He.
Says,"Since 300 x $20 = $6000, | made

thatare equal 05600 L Wit and zove anequation or my ol goal Do you agree with Ted?
@ 5o 1 1 point (_Assessment 1 point Explin. 2 points

0 sexe 45 x 338 = n; n = 15,210 No; Sample explanation:

O sex10t Since Ted rounded 289 to 300
® 05 and 1610 20, he found an
O roo0 s overesfimte. So the actual

Parta
What was the dollar amount of sales of

the mystery novelon Saturdey? Wit an
equation to model your work. 1 pol

7. There ae 36 large fish tanks at the z00.
Each tank holds 205 gallon of water.
How many gallons of water would it take.
o1l al ofthe tanks? 1 point

7,380 gollons

sales are less than $6,000.

10. Draw lines to match each number on the
Jeftto s equivalent expression on the

8. Kol ordered 1,012 baseball cards. Sharon
ordered 5 times 5 many cads o Ko
Wit and olve an equation o find b,
the number of baseblcads Sharon
ordered. 1 point

$3,768; 157 x 24 = 3,768

Part

Whatwas the dollo amount ofsles o the
mystery novel on Friday Wit o equation
tomodelyourviork 1 point
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1012

1021012 102

1,012x 5=b;
b=5,060

vight 1 point
1200 12 100
120 12 100
2 12100
1200 12100

1. For questons 11a-11d,choose Yes or No
totellfthe number 107 il make each
equation rue. 1 point

Ma3x[ 230 OV @No
Tbax | =40 @YesONo
e 20 % 0 Oves @ No
114,517 |=51700 @ Yes O No
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12. Rosanne has 142 song on her MP3
Player Teresa has 11 times as many.
songs as Rosanne. How many songs doss
Teresa have? 1
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Svirestmats 0> 36
and1205 118,50

o i o
o 12x 876 = d;
Qe = 10512
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Nor Sample explanaton:|
Since it Lovyrounded
000 ama63
050, hefound an

fs2112;
132 16 = 2,112 )

oy ton e point

(31922-bo0ks )

Item Points Topic Assessment (Student's Edition and Masters)

1 1
2 1
3A 1

3B 2

Correct choice selected.
Correct answer
Correct answer and equation

Thorough explanation supports the answer.
o
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